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3XML�V\XNXU�SHQXOLV KDWXUNDQ�NHKDGLUDW�7XKDQ�DWDV�VHJDOD�EHUNDW�\DQJ�WHODK�GLEHULNDQ�VHKLQJJD�

SHQ\XVXQ�GDSDW�PHQ\HOHVDLNDQ�WXJDV�DNKLU�\DQJ�EHUMXGXO�³3HUDQFDQJDQ�0LWLJDVL�5LVLNR�'DQ�

6LVWHP�0RQLWRULQJ�5DQWDL�3DVRN�'DUDK�GHQJDQ�0HQJJXQDNDQ�0HWRGH�6&25 �6XSSO\�&KDLQ�

2SHUDWLRQV�5HIHUHQFH��GDQ�0HWRGH�+25 �+RXVH�RI 5LVN� SDGD�8QLW�'RQRU�'DUDK�3DODQJ�0HUDK�

,QGRQHVLD�.DEXSDWHQ�.ODWHQ´� 3DGD�SURVHV�SHQ\XVXQDQ�7XJDV�$NKLU�LQL��3HQXOLV�PHPSHUROHK�

EDQWXDQ� GDUL� EDQ\DN� SLKDN�� 2OHK� VHEDE� LWX�� SHQ\XVXQ� PHQJXFDSNDQ� WHULPD� NDVLK� VHEHVDU�

EHVDUQ\D�NHSDGD�

�� %DSDN�$UL�<DQXDU�5LGZDQ��6�7���0�7��VHODNX�'RVHQ�3HPELPELQJ�,�7XJDV�$NKLU�DWDV�

ZDNWX� \DQJ� WHODK� GLEHULNDQ� GDODP� PHPEHULNDQ� DUDKDQ� GDQ� ELPELQJDQ� NHWLND�

PHQJHUMDNDQ�7XJDV�$NKLU�LQL�

�� %DSDN� +DUGLDQ� .RNRK� 3DPEXGL�� 6�7��� 0�7��� 0�%�$� VHODNX� 'RVHQ� 3HPELPELQJ� ,,�

7XJDV�$NKLU�\DQJ� WHODK�PHPELPELQJ SHQXOLV�GDQ� WHODK�PHPEHULNDQ�PRWLYDVL�GDODP�

PHQJHUMDNDQ�7XJDV�$NKLU�LQL�

�� GU��:LZLN�GDQ�0EDN�$QLV�\DQJ� WHODK�PHOXDQJNDQ�ZDNWX�GDQ�PHPEHULNDQ� LQIRUPDVL�

VHODPD�SURVHV�SHQJXPSXODQ�GDWD�VHUWD�SHQJRODKDQ�GDWD�

3HQXOLV�MXJD�PHPRKRQ�PDDI�DWDV�VHJDOD�NHVDODKDQ�GDQ NHNXUDQJDQ�GDODP�7XJDV�$NKLU�LQL��

6HPRJD�WXJDV�DNKLU�LQL�GDSDW�EHUPDQIDDW�EDJL�SHPEDFD�GDQ�SHQXOLV�

%DQGXQJ���� -XOL�����
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